0 0
0 0
0 0
0 406 P
0 0
0 @110 o
0~ D
0 0
0 0
0 0
0 0
0 0
0 0
0 0
0 0
0 0
0 0
0 0
0 0
0 |0
1585 0 0
0 * 10
0 0
0 0
0 0
6] X ®
f lﬂ
B466
[1 [J
ﬁ
H FFL
365
off
I
RE= Ny
N
L/ )
] i
450

137
{ M—— o oh
370
J 0 o or
101
- 1420
1578 %
———— (1020)
(274)
[T ]
ﬁ° |
95/ 300 110
!
517

Blower Art# 1.2187.3.0C
Blower Art# 1.2188.3.0C

In the interest of continuous improvement and upgrade of our products
Hortig reserves the right to change the technical specifications at any time,
without prior notice.

B> Air Tube Transport Syst;ams >

®

87/88 Blower _Console Strut_Air Diverter

1/6

30.01.2023




B> Air Tube Transport Systems »>

== S =1 { ) ok
370
= = J Wl—10 O of
LI -
% 1420
1585 1578 %
i » (1020)
. 5 )
© \ ® P
f J
(274)
? ﬁﬁ i ﬁ; ? _ il
|
173 % % 191,5 239 170
| Lol FFL
M
36 95 300 110
466
517
RE= e
/4R
524 L/
\vj
87/88 Blower_Console_Concrete Wall_Air Diverter 216

30.01.2023




C(1:2)
Z
1
tT-—- AT —
ﬁ T\
S )
20| 28
— Blower fixed to the strut
(4x) M10 Threaded rod/Nut/Lock washer/Washer
(4x) M10x28 Rubber-Metal Buffer + M10 slide nut
A-A(1:5)
- ~ {6 & F——1m
~
I \
([ /*Wun T
E i3 ° 15
\
Blower standing on console i ‘ T
(or a base) UW
(3x) M12x18 Rubber-Metal Buffer ;Jj _ C 1T “—
[ |
B ﬁ - | OE
A O
‘ | ®

87/88 Blower_Anchored to strut

» Air Tube Transport Systems »>
30.01.2023

3/6




F(1:2)
50
. /40
1 __ /7 ,‘,‘7,777 -
28
20
—Blower fixed to the wall
(4x) M10 Threaded rod/Nut/Lock washer/Washer
(4x) M10x28 Rubber-Metal Buffer + M10x40 dowel
1o o F——M
D-D(1:5)
e N
10
]
\
{ — -
- 1
| E
. i
] / 0
Ed Ei !
_ 1. [T | ]
Blower standing on console — 1
(or a base) E ~— |
(3x) M12x18 Rubber-Metal Buffer D
TURTIO ronrposi ower_Anchored to wa
Il 87/88 Blower_Anchored to wall 416
B> Air Tube Transport Systems »>

30.01.2023



G-G(1:10)

- G
ad 0
0 0
0 0
0 0
0 0
0 0
130 : :
! : :
s = o= —= 10
0 0
0 0
0 0
0 0
0 0
0 0
U il il
6 ‘ ﬁg@ SIﬂL/‘ \ \ G‘HS
100 0 (0
0 0
0 0
I f
YO 1071 0 0
Gap=40mm~ 150 0 ‘ 0
1l 0 0
1585 0 0
S - 0 01 (1020)
0 0
0 0
|l X J
] f lﬂ
i
o i i==8 l nij i ﬁn
? m_‘ U‘ ? fi ]
170 , ?E 173 |2 c——
| : | | ol |

®
‘ |

» Air Tube Transport Systems »>

87/88 Blower Console Air Diverter_Installation Details

51/6

30.01.2023




o) 8N Air Diverter
1.2694.6.02

& 0 o7
Blower_Air Diverter
Connection set
1.2187.6.80
-
| Blower
1 1.2187.3.0C
1.2188.3.0C
/ |

Blower console set
1.2331.0.03

i

@(")RTIG rohrpost

Air Tube Transport Systems »>

87/88 Blower_Console Air Diverter / Article Numbers

6/6

30.01.2023




